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ARRAY AAO(CN,N):
FOR I:=1:N DO
BEGIN = .
FOR K:=0:N DO WRITE
AAO(I,K) : =SUB(SS=0,SUB(S=0,DF(A(I),S,K)))/(FOR J:=1:K PRODUCT J):
. END:
ARRAY AAI(N,N);
FOR I:=1:N DO
BEGIN
FOR K:=0:N DO WRITE
AAL(I,K) : =DF(SUB(S=0,DF(A(I),S,K)),SS)/(FOR J:=1:K PRODUCT J):
END;
OPERATOR PO:
OPERATOR P1;
ARRAY MKSIO(N,N,N):
ARRAY MKSI1(N,N,N);
%% STEP1 %%
MKSIO(N,N-1,1):=PO(N)-(N-1)+AAO(1,0)-4A1(1,0):
MKSI1(N,N-1,1):=P1(N)-(N~1)-(4A0(1,0)+AA1(1,0));
FOR K:=1:N-2 DO WRITE
MKSIOCN, N-(K+1) ,K+1) :'== (PON) - (N-1) +K) *NKSIO (N, N-K, K) +AA0(K+1,0)-AAL (K+1,0) ;
FOR K:=1:N-2 DO WRITE '
MKSI1(N,N-(K+1),K+1) : =(P1(N)-(N-1)+K)*MKSI1(N,N-K, x) AAO(K+1,0)-AA1(K+1,0);
%% step2 %%
MKSIO(N-1,N-2,1):=PO(N-1)-(N-2)+MKSIO(N,N-1,1);
- MKSI1(N<1,N-2,1):=P1(N-1)-(N-2)+MKSI1(N,N-1,1):
FOR K:=1:N-2 DO WRITE
MKSIO(N-1,N-1-(K+1),K+1)
;== (PO(N-1) - (N-2)+K)*MKSIO(N-1,N-1-K, K)+MKSIO(N N-(R+1),R+1);
FOR K: -1:N-2 DO WRITE
MKSI1(N-1,N-1-(K+1),K+1)
s =(P1(N-1)- (N-2)+K)*MKSI1(N-1,N-1-K, K) +MESI 1 (N, N-(K+1) ,K+1);
%% STEP3 %%
FOR J:=2:N-1 DO
BEGIN
WRITE , :
MKSIO(N-J,N-J-1,1) : =PO(N-J)-(N-J-1) +NKSIO(N-J+1,N-J,1);
WRITE .
MKSI1(N-J,N-J-1,1) :=P1(N-J)-(N-J-1)+MKSI1(N-J+1,N-J,1):
FOR X:=1:N-J-1 DO WRITE ‘
MKSIO(N-J,N-J-(K+1),K+1)
:2=(PO(N-J) = (N-J-1)+K)*MKSTO(N-J , N~J-K, K) +HKSTO (N-J+1,N-J+1- (K+1) ,K+1);

12
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FOR K:=1:N-J-1 DO WRITE ‘ :
MKSI1(N-J,N-J-(K+1),K+1): ‘k?l(N‘J) (N- -1)+K) *MKSI1(N-J,N-J-K,K)
+MKSI1(N-J+1,N-J+1-(K+1) ,K+1j:
END:
%%k stepd  BAA%%
ARRAY BO(N,N),B1(N,N):
FOR I:=1:N DO
BEGIN
WRITE BO(I,I):=P1(I)-P0(I);
WRITE B1(I,I):=(PO(I)+P1(1))/2-(I-1):
END:
MKSIO(N,N-2,1) o ’
:=B+AA0(2, 1)*HKSIO(N; N-1,1)-4481(2,1)+4A0(2,1)
-(4%B1(N,N)+2)=(MKSI1(N,N-1, 1) +MKSIO(N,N-1,1))*(1/2):
FOR K:=2:N-1 DO
~ BEGIN
MRSIO(N,N-(K+1),K) : =-(PO(N) - (N-K-1))=MKSIO(N,N-K,K-1)
-B*MKSIO(N-1,N-1-(K-1),K-1)-AA1(K+1,1)+AA0(K+1,1)
+AA0(1,1)*MXSIO(N,N-K,K)-(4:*B1{N,N) +4::K-2) =
(MKSI1(N,N-K,K)+MKSIO(N,N-K,K))=*(1/2):
END:
C:=MKSIO(N,0,N-1)$
€0:=SUB(B=0,C)$
C1:=DF(C,B)$
B:=-C0/C1;
CLEAR C,C0,C1;
MKSTO(N,N-2,1) :=B+AAO(1, 1)*MKSIO(N,N-1,1)-AA1(2,1)+AA0(2,1)
- (4*B1(N,N)+2)(MKSI1(N,N~-1, 1)+MKSIO(N,N-1,1))*(1/2);
FOR K:=2:N-1 D0 :
BEGIN
MKSIO(N,N-(K+1),K) : == (PO(N)- (N- K-I))*MKSIO(N N-K,K-1)
-B*MKSIO(N-1,N-1-(K-1),K-1)-AAL(K+1,1)+AA0(K+1,1)
+AA0(1,1)*MKSIO(N,N-K,K)-(4=B1(N,N) +45K-2) %
(MKSI1(N,N-K,K)+MKSIO(N,N-K,K))%(1/2);
END;
MKSI1(N,N-2,1):=BB+AA0(1,1)*MKSI1(N,N-1,1)-AA1(2,1)-AA0(2,1) .
+(4%B1 (N, N)+2)*«(MKSI1(N,N-1, 1)+MKSIO(N N-1, 1)) (1/2)
FOR K:=2:N-1 DO ,
BEGIN
MKSI1(N,N-(K+1),K):=(P1(N)- (V—K—l)) MKSI1(N, N-K K—‘)
+BB*MKSI1(N-1,N-1-(K-1),K-1)-AA1(K+1,1)-AA0(K+1,1)
+(4*B1 (N, N) +4%K-2)*(MKSI1 (N, N~K,K) +MKSIO (N, N-K,K))*(1/2)

13



64

+AAO(1,1)*MKSI1(N,N-K,K);
END;
CC:=MKSI1(N,0,N-1)$
CC0:=SUB(BB=0,CC)$
CC1:=DF(CC,BB)$
BB:=-CC0/CC1:
CLEAR CC,CCO0,CC1:
MKSI1(N,N-2,1):=BB+AA0(1,1)*MKSI1(N,N-1,1)-AA1(2,1)-AA0(2,1)
+(4%B1(N,N)+2) «(MKSI1(N,N-1, 1) +MKSIO(N,N-1,1))*(1/2);
FOR K:=2:N-1 DO
BEGIN
MKSI1(N,N-(K+1),K) : =(P1(N)-(N-K-1))=MKSI1(N,N-K,K-1)
+BB*MKSI1(N-1,N-1-(K-1) ,K-1)-AA1(K+1,1)-AA0(K+1,1)
+(4%B1(N,N)+4=K-2)*(MKSI1 (N, N-K,K)+MKSIO(N,N-K,K))*(1/2)
+AA0(1,1)*MKSI1(N,N-K,K):
END:
WRITE BO(N,N-1):=(BB-B)/2:
WRITE B1(N,N-1):=(BB+B)/2:
CLEAR B,BB,C0,C,CC,C1,CCO,CCl:
$%%% STEPS %%%%%
FOR J:=1:N-2 DO
BEGIN
MKSIO(N-J,N-J-2,1) : =B-(4%B1(N-J,N-J)+2)*
(MKSI1(N-J,N-J-1,1)+MKSIO(N-J,N-J-1,1))%(1/2);
FOR K:=2:N-J-1 DO
BEGIN
MKSIO(N-J,N~J-(K+1),K)
:=(BO(N-J ,N-J)-B1(N-J ,N-J)+K-1)*MKSIO(N-J ,N-J-K,K-1)
+B*MKSIO(N-J-1,N-J-1-(K-1),K-1)+MKSIO(N-J+1,N-J-K,K)
-(4%B1(N-J ,N-J)+4=K-2)*
(MKSI1(N-J,N-J-K,K)+MKSIO(N-J,N-J-K,K))*(1/2);
END;
C:=MKSIO(N-J,0,N-J-1)%
€0:=SUB(B=0,C)$
C1:=DF(C,B)$
B:=-C0/Cl;
CLEAR C,C0,C1;
MKSIO(N-J,N-J-2,1) : =B-(4*B1(N-J,N-J)+2)%
(MKSI1(N-J,N-J-1,1)+MKSIO(N-J,N-J-1,1))*(1/2);
FOR K:=2:N-J-1 DO ‘ ‘
BEGIN !
_MRSIO(N-J,N-J-(K+1),K)
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:=(BO(N-J,N-J)-B1(N-J,N-J)+K-1)*MKSIO(N-J ,N-J-K,K-1)
+B*MKSIO(N-J-1,N-J~1-(K-1),K-1)+MKSIO(N-J+1,N~-J-K,K)
- (4%B1(N-J ,N-J)+4:K-2)*(MKSI1(N-J ,N-J-K,K)
+MKSIO(N-J,N-J-K,K))*(1/2) ;
END;
MKSI1(N-J,N-J-2,1):=BB+(MKSI1(N-J+1,N-J-1,1)+MKSIO(N-J+1,N-J-1,1))
+(4*B1(N-J,N-J)+2)*«(MKSI1(N-J,N-J-1,1)+MKSIO(N-J,N-J-1,1)):
FOR K:.=2:N-J-1 DO
BEGIN
MKSI1(N-J,N-J-(K+1),K) : =(B1(N-J,N-J)+BO(N-J,N-J)-K+1)
*MKSI1(N-J,N-J-K,K-1)+BB*MKSI1(N-J-1,N-J-1-(K-1),K-1)
+MKSI1(N-J+1,N-J-K,K-1)+(4%B1(N-J,N-J) +4xK~2)*
(MKSI1(N-J,N-J-K,K)+MKSIO(N-J,N-J-K,K))=(1/2);
END:
CC:=¥KSI1(N-J,0,N-J-1)%
CC0:=SUB(BB=0,CC)$
CC1:=DF(CC,BB)%
BB:=-CC0/CC1;
CLEAR CC,CCO0,CCl;
MKSI1(N-J,N-J-2,1): -BB+(HKSII(N-J+1 N-J-1, 1)*HKSIO(N-J+1 N-J-1,1))
+(4B1(N-J ,N-J) +2)*(MKSI1(N-J N-J-1, 1)+HKSIO(N—J N-J-1,1)):
FOR K:=2:N-J-1 DO
BEGIN
MKSI1(N-J,N-J-(K+1),K) :=(B1(N-J,N-J)+BO(N-J,N-J)-K+1)
*MKSI1(N-J,N-J-K,K-1)+BB*MKSI1(N-J-1,N-J-1-(X-1),K-1)
+MKST1(N-J+1,N-J-K,K-1)+(4*%B1(N-J ,N-J) +4*K~2)*
(MKSI1(N-J,N-J-K,K)+MKSIO(N-J,N-J-K,K))*(1/2);
END;
WRITE
BO(N-J,N-J-1) : =(BB-B)/2;
WRITE
B1(N-J,N-J-1):=(BB+B)/2;
CLEAR B,BB,C0,C1,CC0,CCL;
END;
CLEAR B,BB,C0,C1,CC0,CCl;
LAXXY% stepb XAX%%%
FOR M:=3:N DO
BEGIN
MKSIO(N,N-M,1):=B+ (FOR I:=1:M-1 SUM AAO(I,I)*MKSIO(N-I+1,N-M+1, l))
-AA1(M,M-1)+AAO(M,N-1)-(FOR I:=1:M-1 SUM
2%B1(N, N-I+1)*(MKSI1(N-I+1,N-M+1, 1)+MKSIO(N-I+1,N-M+1,1)) )
-(MKSI1(N,N-M+1,1)+MKSIO(N,N-M+1,1));
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if nim then do
begin
FOR K:=M:N-1 DO
BEGIN
MKSIO(N,N- (K+1),K-M+2) : =— (K-M+1)*MKSIO (N, N-K,K-M+1)
-(FOR 1:=0:M-2 SUM (B1(N,N-I)-BO(N,N- -1))#MKSTO(N-I,N-K,K-M+1) )
-B“HKSIO(N 1,N-1-(K-1) ,K-1)
+(FOR I:=1:M-1 SUM (AAO(CT,I)% MKSIO(N-I+1,N-K,K-¥+2)) )
-AA1(K+1,M-1)+AAO(K+1,M4-1)-(FOR I:=0:M-2 SUM (2:B1(N,N-I)%
(MKSI1(N-I,N-K,K-N+2)+MKSIO(N-I,N-K,K-¥+2))) )
,+(-2$K+2*H-3)*(MKSII(N,N-K,K-H+2)+HKSIO(N,N-K,K—H+2));
END;
end;
C:=MKSIO(N,O0,N-H+1)$
C0:=SUB(B=0,C)$
C1:=DF(C,B)$
B:=-C0/C1;
CLEAR C,C0,C1:
MKSIO(N,N-M,1)
:=B+ (FOR I:=1:M-1 SUN AAOCI, I)wHKSIO(N—I+1 N-M+1,1))
-AAL(N,M-1)+AAO(N,N-1) -(FOR I:=1:M-1 SUM
24B1(N,N-I+1)%(MKSI1(N-I+1,N-M+1, 1) +MKSIO(N-I+1,N-M+1,1)) )
- (MKSI1(N,N-M+1,1)+MKSIO(N,N-M+1,1));
if njm then do
begin
FOR K:=M:N-1 DO
BEGIN
MKSIO(N,N-(K+1), K-M+2) : == (K- M+1)*MKSIO(N N-K,K-M+1)
-(FOR 1:=0:¥-2 SUM
(B1(N,N-I)-BO(N,N-I))=MKSIO(N-I,N-K,K-M+1) )
-B*MKSIO(N-1,N-1-(K-1),K-1)
+(FOR I:=1:M-1 SUM (AAOCT, I)*HKSIO(N-I+1,N—K,K—H+2)) )
-AAL(K+1,M-1)+AAO(K+1,M-1)
-(FOR I:=0:M-2 SUM (2%B1(N,N-I)*
(MKSI1(N-I,N-K,K-M+2)+MRSIO(N-I,N-K,K-M+2))) )
+(—2*K+2*M-3)*(MKSI1(N,N-K,K—H+2)+HKSIO(N,N—K,K—H+2));
END:
end;
MKSI1(N,N-M,1)
:=BB + (FOR I:=1:M-1 SUN ( ARO(I, I)*HKSII(N—I+1 N-¥+1,1) »
~AAL(M,N-1)- AAO(H M-1)+(MKSI1(N,N-M+1,1)+MKSIO(N, N-H+1 1))
+ (FOR I:=1:M-1 SUM ( BL(N,N- I+1)#%(MKSI1(N-I+1,N-M+1,1)
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+MKSIO(N-I+1,N-M+1,1))%(1/2) ));
if n)m then do
begin
FOR K:=M:N-1 DO
BEGIN
MKSI1(N,N-(K+1),K-M+2):=(K-N+1)*MKSI1(N,N-K,K-M+1)
+ BB*MKSI1(N-M+1,N-K,K-M+1) + (FOR I:=0:M¥-2 SUM
(B1(N,N-I)+BO(N,N-I))*MKSI1(N-I ,N-K,K-M+1) )
-AAL(K+1,M-1)-AA0(K+1,M4-1)
+ (FOR I:=1:M-1 SUN (AAO(I,I)*MKSI1(N-I+1,N-K,K-M+2)) )
+ (FOR I:=0:M-2 SUM
(2%«B1(N,N-I)*(MKSI1(N-I,N-K,K-M+2)+MKSIO(N-I,N-K,K-M+2))) )
~(=2uK+2«M-3) % (MKSI 1 (N, N-K, K-M+2) +MKSIO(N,N-K,K-M+2)) :
END; ‘
end;
CC:=MKSI1(N,0,N-M+1)$
CC0:=SUB(BB=0,CC)$
CCl:=DF(CC,BB)$
BB:=-CC0/CC1;
CLEAR CC,CCo,CCl;
MKSI1(N,N-M,1)
:=BB + (FOR I:=1:M-1 SUM
( AAO(CT,I)*MKSI1(N-I+1,N-M+1,1) ))
-AAL(M,M-1)-AAO (M, M-1)+(MKSI1(N,N-M+1,1) +MKSIO(N,N-N+1,1))
+ (FOR I:=1:M-1 SUM ( BI(N,N-I+1)%*(MKSI1(N-I+1,N-M+1,1)
+MRKSIO(N-I+1,N-M+1,1))%(1/2) ));
if n)m then do
begin
FOR K:=M:N-1 DO
BEGIN
MKSI1(N,N-(K+1),K-M+2) :=(K-M+1)*MKSI1(N,N-K,K-N+1)
+ BBMKSI1(N-M+1,N-K,K-M+1) + (FOR I:=0:M-2 SUM
(B1(N,N-I)+BO(N,N-I))*MKSI1(N-I,N-K,K-M+1) )
-AA1(K+1,M-1)-2A0(K+1,M-1) _
+ (FOR I:=1:M-1 SUM (AAO(I,I)*MKSI1(N-I+1,N-K,K-M+2)) )
+ (FOR I:=0:M-2 SUM ‘
(2«B1(N,N-I)*(MKSI1(N-I,N-K,K-M+2)+MKSTIO(N-I,N-K,K-¥+2))) )
- (- 2%K+2%M-3) % (MKSI1(N,N-K,K-M+2) +MKSIO(N,N-K,K-¥+2)) ;
END; :
end;
WRITE ‘
BO(N,N-M+1) :=(BB-B)/2;
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WRITE
B1(N,N-M+1) : =(BB+B)/2;
CLEAR B,BB,C,C0,C1,CC,CCO,CCL:
%%%%% STEP7(CONTINUED) %%%%%%
J:=1;
WHILE (J(N-M+1) DO
BEGIN
MKSIO(N-J,N-J-M,1):=B -(FOR I:=1:M-1 SUN 2:B1(N-J,N-J-I+1)%
(MKSI1(N-J-I+1,N-J-¥+1,1)+MKSIO(N-J-I+1,N~-J-¥+1,1)))
~(MKSI1(N-J,N-J-M+1,1)+MKSIO(N-J,N-J-N+1,1));
FOR K:=M:N-J-1 DO
BEGIN
MKSTO(N-J,N-J-(K+1) ,K-M+2) : == (K-N+1)*MKSIO(N-J,N-J-K,K-M+1)
-(FOR I:=0:M-2 SUM (B1(N-J,N-J-I)-BO(N-J,N-J-I))
*MKSIO(N-J-1,N-J-K,K-N+1) )
-B*MKSIO(N-J-1,N-J-1-(K-1),K-1) + MKSIO(N-J+1,N-J-K,K-¥+2)
-(FOR I1:20:M-2 SUM (2*B1(N-J,N-J-I):x ’
(MKSI1(N-J-I,N-J-K,K-M+2)+NKSIO(N-J-1,N-J-K,K-M+2))) )
+(-2%K+2%M-3)
*(MKSI1(N-J,N~J-K,K-M+2)+MKSIO(N-J,N-J-K,K-M+2)) :
END:
C:=MKSIO(N-J,0,N-J-M+1)$
C0:=SUB(B=0,C)$
C1:=DF(C,B)$
B:=-C0/C1;

CLEAR C,C0,C1;
MKSIO(N-J,N-J-M,1):=B -(FOR I:=1:M-1 SUM
2%B1(N-J ,N-J-I+1)% ,
(MKSI1(N-J-I+1,N-J-M+1,1)+MKSIO(N-J-I+1,N-J-¥+1,1)))
- (MKSI1(N-J,N-J-M+1,1)+MKSIO(N-J,N-J-N+1,1));
FOR K:=M:N-J-1 DO
BEGIN
MKSIO(N-J,N-J-(K+1),K-M+2)
: == (K-M+1)#MKSIO(N-J ,N-J-K,K-M+1)
-(FOR I:=0:M-2 SUM
(B1(N-J,N-J-1)-BO(N-J,N-J-1))=NKSIO(N-J-I,N-J-K,K-M+1) )
-B*MKSIO(N-J-1,N-J-1-(K-1),K-1)+MKSIO(N-J+1,N-J-K,K-M+2)
-(FOR I:=0:M-2 SUM
 (2%B1(N-J,N-J-1)%(MKSI1(N-J-I ,N-J-K,K-¥+2)
+MKSIO(N-J-I,N-J-K,K-M+2))) )
+(~2%K+2:xM-3)
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= (MKSI1(N-J,N-J-K,K-N+2) +MKSIO(N-J,N-J-K,K-M+2)) :
END;
MKSI1(N-J,N-J-M,1)
:=BB + MKSI1(N-J+1,N-J-M+1,1)
+ (MKSI1(N-J,N-J-M+1,1)+MKSIO(N-J,N-J-M+1,1))
+ (FOR I:=1:M-1 SUM
(2%B1(N-J,N-J-T+1)x
(MKSI1(N-J-I+1,N-J-M+1,1)+MKSIO(N-J-I+1,N-J-¥+1,1}) )):
FOR K:=M:N-J-1 DO
BEGIN
MKSI1(N-J,N-J-(K+1),K-M+2) : =(K-M+1)=MKSI1 (¥-J,N-J-K,K-N+1)
+ BB4MKSI1(N-J-M+1,N-J-K,K-M+1)
+ (FOR I:=0:M-2 SUN
(B1(N-J,N-J-I)+BO(N-J,N-J-1))*MKSI1(N-J-I,N-J-K,K-M+1) )
+ MKSI1(N-J+1,N-J-K, K-M+2)
+ (FOR I:=0:M-2 SUM (2%B1(N-J,N-J-I)x ‘
(MKSI1(N-J-I,N-J-K,K-M+2)+MKSIO(N-J-I,N-J-K,K-M+2))) )
- (~2:3K+2:M-3) 5 (MKSI 1 (N-J , N-J-K, K-M+2) +MKSIO(N-J ,N-J-K, K-M+2)) ;
END;
CC:=MKSI1(N-J,0,N-J-M+1)$
CCO0:=SUB(BB=0,CC)$
CC1:=DF(CC,BB)$
BB:=-CC0/CC1;
CLEAR CC,CCO,CC1;
MKSI1(N-J,N-J-M,1):=BB + MKSI1(N-J+1,N-J-M+1,1)
+ (MKSI1(N-J,N-J-M+1,1)+MKSIO(N-J,N-J-N+1,1))
+ (FOR I:=1:M-1 SUM (2%B1(N-J N-J-I+1)%
(MKSI1(N-J-I+1,N-J-M+1,1)+MKSIO(N-J-I+1,N-J-N+1,1)) ));
FOR K:=M:N-J-1 DO
BEGIN
MKSI1(N-J,N-J-(K+1),K-M+2) : =(K-M+1)*MKSI1(N-J,N-J-K,K-M+1)
+ BB*MKSI1(N-J-M+1,N-J-K,K-M+1)
+ (FOR I:=0:M-2 SUM
(B1(N-J,N-J-1)+BO(N-J,N-J-I))*MKSI1(N-J-I,N-J-K,K-M+1) )
+ MKSI1(N-J+1,N-J-K,K-N+2)
+ (FOR I1:20:M-2 SUM  (2*B1(N-J,N-J-I)%
(MKSI1(N-J-I,N-J-K,K-M+2)+
MKSIO(N-J-I,N-J-K,K-M+2))) )
- (= 24K+ 2%M-3) % (MKST 1 (N-J ,N-J-K, K-M+2) +MKSTO(N-J , N-J-K, K-M+2) ) ;
END:
WRITE BO(N-J,N-J-M+1) :=(BB-B)/2;
WRITE B1(N-J,N-J-M+1) :=(BB+B)/2;
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CLEAR B,BB,C,C0,C1,CC,CCO0,CCT;

Ji=J+1;
END:
~ END;
END;
END;

2% IR
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